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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226616041 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per Kautilya, the fundamental pillars of Economic
development are

a. Strong defense capabilities  b. Communal harmony
c. Robust governance
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Question Number : 2 Question Id : 39226616042 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The word ‘Blue Helmet’ 1s related to

1. United Nations Peace Keeping Force

2. Fire Services Organization

3. International Anti-Terrorist Force

4, International Environmental Voluntary Agency
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Question Number : 3 Question Id : 39226616043 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Mughal Emperor who said T came alone and I am going
alone™ was

1. Akbar
2 Humayun
3. Babar
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Question Number : 4 Question Id : 39226616044 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

India’s first Multi-purpose Green Hydrogen pilot project was
inaugurated in this state

1. Himachal Pradesh
2. Punjab

2. West Bengal

4, Kerala
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Question Number : 5 Question Id : 39226616045 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding sumimits

a. COP 29 summit was held in Baku. Azerbaijan.
b. G-20 summut was held in Rio de Janeiro. Brazil
. Global cooperative conference 2024 was held in

New Delhi. India

DGO $020800D JPS DIrerSo 80wk,
a.  COP 29 3&:0) 20, onb PerdS” mdR0d.
b.  G-20%8%0) 8&> & &35, [BASS” 3OA0H.

C. ﬁ;EJ?gEE S50 5"55365\) 2024, 5’1305&(@, 308a5S”

=8R06.
1. q.C
i A 3 B
3. a.b
4. ab.c
Options :
1.% 1
2. %2
3. % 3

4.9 4



Question Number : 6 Question Id : 39226616046 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name of the Volcano erupted in November 2024 that is
located on Flores Island of Indonesia

L, Mount Pinatobo

2. Lewotobi Laki Laki
3. Mount Mayon

4. Mount Sakurajama
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Question Number : 7 Question Id : 39226616047 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the Mismatched pairs among the following

a. Wrestling - Rebuts
b. Polo - Nelson
1ok Table Tennis = Ball under
d. Basket ball . Ant rubber
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Question Number : 8 Question Id : 39226616048 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to the report by the United Nations Population
Fund (UNFPA)-2024, the population of China is

1. 144.17 Crores

2 143.26 Crores

3 142.5 Crores

4, 121 Crores
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Question Number : 9 Question Id : 39226616049 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following and identifv the correct answer
Bharata
Vyasa

Narada

1.
il

1il.
iv.

Jayadeva
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Question Number : 10 Question Id : 39226616050 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose correct answer regarding schemes

a. SEHER Programme - Enhance financial literacy and business
skills among women.

b. UNNATI-2024 - Provide institutional credit and aquaculture
insurance to fish workers

1. a. b correct
2, a. b wrong
3. a only correct
4. b only correct
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Question Number : 11 Question Id : 39226616051 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Nobel Prize winner in Literature - 2024 Han Kang belongs to
this Country

L. Japan
2. South Korea
3. China
4, Nepal
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Question Number : 12 Question Id : 39226616052 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding book and author

L. Two leaves and a Bud a. Stephen Hawking
il Beyond the Line b. Mulka Raj Anand
iii. A Brief Historyof Time ¢ Alex Haley

iv.  The Roots d. Kuldeep Nayvar
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Question Number : 13 Question Id : 39226616053 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Major Dhyan Chand Khel Ratna Award winner in 2024 from
Para — Athletics 1s

1. Manu Bhaker

243 Praveen Kumar
3. Gukesh
4, Harmanpreeth Singh
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Question Number : 14 Question Id : 39226616054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Limitation of the field of vision subtending an angle of less
than this is called “blindness' according to present Act in force.
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Question Number : 15 Question Id : 39226616055 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Famous actress with hearing and speech disabilities from
Telugu cinema industry from her childhood

L Amulya
2. Ananya
3. Abhinaya
4, Anjali
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Question Number : 16 Question Id : 39226616056 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AYINISHD headquarters is located at

1. Mysore
. Mumbai
3. Kolkata

4. Secunderabad
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Question Number : 17 Question Id : 39226616057 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This education programme is treated as equal to any other
child i the general system for children with severe &
profound disabilities as per NEP - 2020

I Home based education
2. Centre based education
3 Computer based education
4, School based education
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Question Number : 18 Question Id : 39226616058 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This day is observed as World Autism Awareness Day

1. 7 April
2. 8 May
24 2 April
4. 17 April
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Question Number : 19 Question Id : 39226616059 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Providing facilities for students with and without disabilities in
schools comes under

I. Differential education
2. Integrated education
3. Inclusive education

4. Special education

FEroS §§@§O He $508dw §§@§O S 35“5&&%@6555
SITDBFN Lo e KD)0Eo &3B B (3083 5908

5 5{:5“9:6&§ 23655

2. ‘ﬁﬁbﬁo}eﬁ eSS
3. 33508 eSS
4. (3TgE g

Options :

1. % 1

2. % 2

3.3

4, % 4



Question Number : 20 Question Id : 39226616060 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This helps to provide opportunities to all children with
individual learning difference in teaching & learning

1. Universal Design for Learning (UDL)
2, Plus curriculum

2. Indian sign language

4. American sign language
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Question Number : 21 Question Id : 39226616061 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name of the Register maintained by medical professionals to
identify the factors causing umpairments at the time of
peri-natal stage

1. High Risk Register

2. Rehabilitation Register

T2l

Health check Register
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Question Number : 22 Question Id : 39226616062 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Programme exclusively focus on Universalization of Education
of girls at Elementary level
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Question Number : 23 Question Id : 39226616063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name of the Education provided to the children in schools
from 6-14 years of age. who cannot continue their education
due to socio, economic factors

1. Special education

2. Adult education

3. Non-formal education
4, Inclusive education
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Question Number : 24 Question Id : 39226616064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Types of disabilities mentioned in PWD Act-1995
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Question Number : 25 Question Id : 39226616065 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Subtests of Differential Aptitude Test

a. Abstract Reasoning

b. Social Intelligence

C. Spatial relations

d. Mechanical reasoning
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Question Number : 26 Question Id : 39226616066 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This colour boards are useful for children with partial visual
impatrment

E: Grey or Green colour boards
2. Green or Blue colour boards
3. Grey or Black colour boards
4. White or Green colour boards
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Question Number : 27 Question Id : 39226616067 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Gifted child one whose performance in a potentially valuable
line of human activity is consistently remarkable.” Defined by

i Pavlov

2. Thurstone
3. Vitty

4, Terman
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Question Number : 28 Question Id : 39226616068 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following and identify the correct answer

1, Spearman a. Group factor theory
il Thorndike b. Uni factor theory
iii.  Thurstone C. Two factor theory
iv.  Binet. Et.al d. Multi factor theory
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Question Number : 29 Question Id : 39226616069 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

INCORRECT pairs among the following
a. Insight learning - Optical apprehension

b. Classical conditioning theory - R - Theory

¢. Trial and Error learning - Latent learning
d. Learning by imitation - Observational learning
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Question Number : 30 Question Id : 39226616070 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Determinants of learmning

I: Readiness. mental health and interests

2, Motivation. attitudes and interests

3. Readiness. Maturation and Motivation

4. Maturation, emotional development and habits
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Question Number : 31 Question Id : 39226616071 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If car driving training helps in driving a tractor this type of
transfer of learning 1is called
E: Negative transfer
2. Positive transfer

Zero transfer

(S

4 Bilateral transfer
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Question Number : 32 Question Id : 39226616072 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct answer

a. Mode is not suitable for Algebraic expression.
b. Standard deviation is most reliable dispersion.
1. a only correct
2. b only correct
3. a. b incorrect
4. a, b correct
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Question Number : 33 Question Id : 39226616073 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the test which i1s NOT a projective technique of
personality
1. Rating Scales
2 Thematic Apperception Test
E 3 Children Apperception Test
4. Rosarch Inkblot Test
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Question Number : 34 Question Id : 39226616074 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The factors NOT influences the individual differences in
learning

L Memory, Emotions and Creativity
2. Interest. Intelligence. Creativity
3. Motivation, Heredity, Health

4. Information, Beauty. Race
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Question Number : 35 Question Id : 39226616075 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Father of experimental psychology

1. Watson
2. Plato
3 Binet

4. Wilhelm Wundt
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Question Number : 36 Question Id : 39226616076 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the factor NOT related to principles of growth and
development.

1. Development 1s continuous and cumulative
2, Development is an interactive process

3. Development takes a rigid sequence

4. Development 1s uniform 1n all stages
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Question Number : 37 Question Id : 39226616077 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the dominant characteristics of Adolescence
1. Age of ambiguity
2. Age of questioning

Period of exploration

[ ]

o

Period of overlapping

STIrE8E @), ;inanémgmﬂéﬁ 30 .58

il el aly! ;Sciiama
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2. ($%)0T Scio)
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Options :
1.v 1
2. % 2
3.%3

4.% 4



Question Number : 38 Question Id : 39226616078 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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The age of concrete operational stage according to Piaget

1. 0-4 years

2. 7-11 years
3. 2-7 years

4. 12-16 years

2O (P5°80 Hoof (PTOE ¥ 5650%0)
1. 0-4 ﬁoéﬁé&aﬂw

2 7-11 ﬁc;jéén]cren

3. 2-7 réo;.ie:é“}mm

4 12-16 éo;‘ie:égo'ﬁm

Options :
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Methods used in counselling
L. Psychological Tests. Interviews

2. Physiological Tests. Rating scales

T4l

Memory tests, Blood tests

s

Interviews, Physical tests

?%@oﬁm EXDIR0D ;L Ten

L S 3y DOKen, HODYS 0

2.
A i B 2 A B
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4. Eﬁ&:anJm, TEEE B Eew
Options :
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Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Bell’s Adjustment Inventory 1s used in assessment of

1. Emotions

2. Personality
3. Intelligence
4. Memory

BO) ESI00S FHOLY EDBTA0D FrHTo TS
22es

1. éﬁgsma}a
2. M_&DM%D
3. L@g
4, 2 @@
Options :
1. % 1
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Section 4
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0
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Correct Marks : 0.5 Wrong Marks : 0

A person with normal vision can see these degrees of area with
his both eyes.

TEe S)A &) S8 ST Do EHE" DT &) (BBT)
&3 &|flo 900S° Sy

1 160°
2.4 140°
3. 180°
4, 190°

Options :
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2. %2
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According to Maslow theory Self Respect 1s in this step

Fourth step

)

Sixth step
Fifth step

[ ]

4. Second step
SR DTosod” ey KES0 &) PIN0

)

L m%;‘j P TeesO
& 38 Pareso
3. 208355 ParS0

4. DOES PS50
Options :
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Correct Marks : 0.5 Wrong Marks : 0

While Teaching Educational Curriculum to Students with
visual impairment this teaches as first part

1. Orientation and Mobility

2. Braille Code

3 Sensory Training

4. Maths. Social aspects. Science. Language

Sy 8790 Ko doghe dovy FUHeTDE 0858 erKod”
DB SO0,

1.  &58%¥0, Sos ¥3

2. @D:ué;) On
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Options :
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White part of an eye.

1. Vascular layer
2. Sclera

3. Choride layer

4, Cillary muscle
¥oéd ::TJ.::JEE]_ @gﬁl CALIAINOY
1. aﬁmbmg PH

= |

2. %D"
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Options :
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The condition of losing the ability to see a object or a small
printed text clearly

1. Presbyopia
z Ambiopia

3. Astigmatism
4, Plotters
2.¥ S0 S DY) soo(Eeasid DyRo S i‘mﬁm"sé’g}
5"5955": gam@
: (PRer&Brndise
2. eod)diradis
3. E?&P&&EG
22
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Options :
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Famous Telugu singer and musical director who overcome
visual impairment

L Garimella Subhramanyam
2. N. Paramesh

3. Mohan Krishna

4. Gonuguntla Koteswara Rao

Sy §'rQ) BORWONS (Hng Beok MALHes $HOG5M
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Options :
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These colours takes more time to attract imfants of one week of
age

1. Red and yellow
2, Yellow and Orange
3. Red and Orange

4, Blue and Violet

T80 Sre SO0 Ko WY SEYoBEIE @R D0
0% Joroen

: B ED) FoBS50 DY

2. HH0%) Hd5» 8oz

3. D) 00c T80z
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Options :
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Children with vision defect face difficulty while moving up
and down on stairs 1s

1. Myopia
2, Binocular vision
3 Hyper metropia

4. Night blindness

B3 Sy S0 &X) dyeo oty K &0, BRES’
308 DEE Lo

Lo el
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Abacus instrument was invented by

1. Britishers
8 Japanese
3. Chinese
4, Russians

e9zED $8%80 DD LHAtsndod

1. esOnasnen
i
2. 225D a%men
3. Seasnen
o
4. 5‘5'3.55@:;
Options :
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This method used to develop language skills in persons with
deaf - blind

1. Tactile method
2. Auditory method
2 Tadoma method
4. Braille method
208 @0 e F8S° gy SVETFORD DOP0BOSEAS
ERDBRA0D t.ag@
1 ﬁgiﬁg %;5 t&fge‘_’a
2. i ﬁﬂé@
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Options :
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Correct Marks : 0.5 Wrong Marks : 0

Scribe should have these educational standards that are
appearing for class X examinations

1. 11™ class
2. 10™ class
3. o™ ¢lass
4. 8™ class

DES SBHB DOY 070 BREH0 Ko ITgRS HIFIHT
10 ] a

SpHid B3 SEKB oy o ¥OA &ord.

1 1135 S558

2. 105 SUKS

3. 95 SUKD
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Options :
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Correct Marks : 0.5 Wrong Marks : 0

Indian parliament passed the bill on Rehabilitation Council of
India Act in this year

TREE PITTH oG Ve a8 FY0S &3rBodS
205850

1. 1993
2. 1992
3, 1994
4, 2008

Options :

1. %1

2.9 2

3.% 3

4. % 4



Question Number : 53 Question Id : 39226616093 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This Scheme worked for children with mild impairments
1. Inclusive Education

2. Special Education

¥ Welfare Education

4. Integrated Education

o — - - -
Does PEeg0 Ko Eag::j@ 500 3 DS HE&Eo

1. Dayees 3}&:’:5

2. (8gE dsg
3 :ooé;i: 3:::’55
4. mm&@@ 3::35

Options :
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This coloured Spectacles are helpful for persons with macular
degeneration eye problems

1. Orange to Red

e

Red to Orange

(8]

Yellow to Orange
4, Orange to Yellow
Sr¥ged GaITRS K08 BoRs KoT03 BIFANG
SHTo Sona

[
I "800 SH0& IO
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5 4 P Sood Tedo
4 002 000G DY

Options :

1. % ]
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Choose correct answer regarding Article number with its
function of RTE Act

i. Article—17 a. Teacher pupil ratio

ii. Article—21 b. Examination and completion certificate
iii. Article—25  ¢. Prohibition of physical punishment

iv. Article—30 d. School management committee

RTE 58080 es95& %ogg - S8en 580D ¥ BSrerso
180wk,

i ef86-17  a &rrieh IR IS

il 956 -21 b 98K SPECe Higo
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iii. 856 -25 ¢ 208 SoEs JYaso

iv, eggé' —30  d FEro drmirsy S

i-¢ 1u-b m-d 1wv-a

1
2 i=b d#-¢c 1i-d WwWw—a

i-a 11-c¢ u-d 1w-b

(S
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This considered as Physical disability
1. Cerebral Palsy

2. Parkinson’s Disease

[N

Multiple Sclerosis
4. Mental illness
T8 Jreogon HBKetosaEd

L 0@S )
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Options :
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A person with normal vision can read top line letters on
Snellen chart from the distance in meters

T S Ko 558 oS TS’ P SWH eXorom
) 1OY ErB0 Ho& SESKE.

1. 4
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Options :
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Correct Marks : 0.5 Wrong Marks : 0

The ability to identify and analyzing the objects from longer
distance and shorter distance

8 Visual acuity

2. Visual efficiency
3. Visual Field

4, Visual function

B80T &) S0, SRS &) S50 ZR0D
K803 ¥3R g HerHd

1. iﬁq)?& DYyRs

2. S %ﬂmgéo

3. GREeo
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Options :
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Karate Malacia occurs due to this vitamin deficiency

5078 SoomRdair 3 DD S7H0 Y HOWRL0B.

¥ D
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3 B
4 A

Options :
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Display Question Number : Yes
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Expand IEP
IEP & 3800 |Srcdbne
Integrated Educational programme

1
2. Individualised Educational plan

e

Inclusive Educational plan

4. Institutionalised Education programme

Options :
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2.92
3. % 3
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Correct Marks : 0.5 Wrong Marks : 0

This uses in teaching Maths through Taylor frame

1. Types
2. Stylus
3. Sticks
4 Beads

S8 (NS B &1@rRod KedBo S OILD.

1. 8
2. 0 00
g
3, E-
3. 23)
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Options :
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The value of lower Abacus Bead in the Abacus device.

@2PED HOE50STD S8 werxh HE SBook),. dews
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Six dot method Braille Script was standardized in this year
worldwide.

StH Do Ho [Bowd I (BH0S FHor B HoSE Ko’
(B Se3EBOTED.
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Options :
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UEE Braille dot code
UEE cT:coﬁb @c:m@ =S 558

l. 1.3.6-1.4-1.4
2 1.3.6-1.6-1.6
3 1.3.6-1.5-1.5
4, L3gsl. 3413

Options :

1.% 1

2.% 2
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Correct Marks : 0.5 Wrong Marks : 0

Student with visual impairment can use the remaining sense
organs to know about his / her surroundings is called

1. Mobility

2. Pedagogy and Mobility

2. Independence in Movement

4, Orientation

SRS"H0 Ko Iorgd WADS HRoBdirer &DBTA0D &S
St &) DOVoes KH00N BeoEHEC ¥R
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Lower part of the Cane is called

1. Tip
2 Arc
E 1 Grip
4. Shaft
SS GBook), 308 ZPTR) RS DO
1. a5
2. &Egb_
2 3 RS
4. T

Options :
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2.% 2
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Correct Marks : 0.5 Wrong Marks : 0

To provide embossed printed diagram to the student with
Visual impairment, this process of curriculum is called as

1. Modification
% Duplication
Substitution

LS

4. Omission
SRSD0 Ko o508 JoF'E (HOBE AT 3KE0 $IB
TS (DeePE B0 B2 (HFcD
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Correct Marks : 0.5 Wrong Marks : 0

The machine converts the Printed topics into oral form is
called as

L JAWS Software Machine

2 Kurzweil Reading Machine

3 Non Visual Desktop Machine

4. Closed Circuit Television Machine
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Correct Marks : 0.5 Wrong Marks : 0
This man observed the characteristics of Persons with visual
impairment at first
1. Peter Tarpy
2. Boer
3; Loven Field
4, Robert Sheldon
SRSD0 &) I0o oferodd InSSTOT 0800I

¥ 568 e»:oé;]
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Options :
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To assess the mtelligence of students with visual impairment
VPPT test designed by this country

1. France

2. Germany
3. England
4. India

S S0 Ko e (dgid ATBoSEAS EHEFA0T
VPPT 5055 &2rofods G¥o.

L @)
2. 2:36&33
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Options :
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Evaluation belongs to Non-Interactive type is happens through
this

1. Non-verbal tests
1.8 Video-record
3. Audio record

4. Special abilities
©35 ST OB HregOEHO Hed T W00,

1 Eﬂ%“’gg*j OERen
. HE & ket
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Options :
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Correct Marks : 0.5 Wrong Marks : 0

The process of matching different shapes by students with low
vision indicate this ability of an eye

1. Visual Acuity
2. Visual Discrimination

Visual Efficiency

[ ]

s

Visual Figure — ground Discrimination
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National Council of Educational Research and Training
established in this year

B o> $OTSS xer 00R B3 ‘nﬁo;ie:é‘afﬁogs

@;boiﬁa&&oa.
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3 1971
4. 1981

Options :
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Size of Large print font read by children with low vision
1. N16to N14
Z N14to N12
3, N18 to N20
4. NI18 to N16
SK)S S &F) DOTE IS DY S0 wE0e HOre0

1. N16 500é& N14
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N14 S00é N12
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3 N18 o0& N20
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Options :
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The process useful to read and write mathematics effectively
by students with visual impairment

1. Taylor Frame
2. Abacus

3. Braille code
4, Nemeth code

Sy 890 Ke DergEen Ke3Es0m WYL, T e
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Options :
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Main principles of universal design for learning are

L Reflection, Anticipation, energy

2. Reinforcement. Activity, Evaluation

3. Representation. Action and Expression, Engagement
4, Reading. Authority. Entertainment

SIS GBS $6 BYOR k), (PN drgren 3

1. (@&Dowo, @:@iﬁtﬁg, 35
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Options :
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Disadvantages experienced by the individual as a result of
impairments and disabilities. handicaps

1. Impairment
2. Disability
3. Handicap

4. Exceptional
2
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Visual impairment occurs due to pressure of this parts in the
eye in glaucoma disease
1. Optic nerve and lens
2. Comea and Retina

Cormnea and Optic nerve

[N ]

Retina and Optic nerve
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Options :
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Year of standardization process of Braille printing world wide
DHI RO P300S [Bowd (BoBok eeso
GBS ST VOSSO

1 1943
2 1942
3 1933
4. 1932

Options :
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This day has become known as “International white cane

safety Day’
I: September 15
2, October 15

3 November 15
4. December 15
00X 56 D5 ES '5@%3 e
1. powb 15
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&ond 15

Options :
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4. wrog(Saen - DEW SS0)HR
Options :
1. % ]
2. % 2
3.¢3

4.% 4



Question Number : 83 Question Id : 39226616123 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘BES0' ‘;’::D"’sciﬂ;‘;’ac?@;

% S53850, B>
|
2. B, TP

3. ?:’:550, B

4. BB, B850
Options :
1.% 1
2.% 2
3.% 3

4.9 4



Question Number : 84 Question Id : 39226616124 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
208 3BS° $/S B oS0,
e, &, &3, 0,9 - &igsm
e3.  DSIFcos” HOHBD - Edigsﬂa

o

e, &, 00 - E,igsm

B3, ©ORY oS DT - Lgen
i @, 3

7. €3, 3

3. ), 3

4. &9, €3

Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 85 Question Id : 39226616125 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
g F) & e E] -
Hodes gﬁﬁaﬁfﬁ TR DorTr 8 HSS

L (@I ooy IS0

2. 1 @DBID ductdy Tesd
3. | B9EID AiSos
4. (®HBIJ S0k
Options :
1. % 1
2. %2
3.¢3

4. % 4



Question Number : 86 Question Id : 39226616126 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

DY ForoH $BS (¥5008° e0Y)os.

®. O REJ;S% Aes m5?

@ A8 D& TS Jmswcogs 2@
3. @0 JgTd oo EEID@TBJR]
Ba. D30 HOERD $B0H w0

1. e, 53, 9, 3

. 3, o, 83, 3

w

53,3 G, o
41 &Ep _é_ar a! @

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 87 Question Id : 39226616127 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

R SIVY) &90;&:&'5 aeﬁﬁfﬁdoé.

e. HLEY do. eSS Shod
es. 58 g Ra33850

3. e9d3D50 . - STale)

=X mﬁ:ﬁ = RO

1 ®-0%, 8-9, 3-9, H3-8
2 ©-dD, e-J, -8, &2-o
3. -0, s-5, 3-9, B3-2

4. ©-0%, S-3, 3-9, H3-8

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 88 Question Id : 39226616128 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“ﬁbtﬁaweﬁ: G0 BAIFDoE
S8 Qo Homoeen) s
X3 A HoHen Ke FBo

3 RS 889

- ST TAEALIS bt
4. arﬂ&:?ae:éa’so
= - )
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 89 Question Id : 39226616129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘XD, (570f’ Jr|gen Ko ;80
()
1. 3B HoXK

2. 520508° Bolsod
N
4. @éma “:\5330)0
Options :
1.v 1
2.% )
3.% 3

4, % 4



Question Number : 90 Question Id : 39226616130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
BETDEE” B DT LB SV)S KTH0
1. 560 + et
2. SE> 4+ Poed
2 3 SEg + &
4. &> + &
Options :
1. % 1
2.% 2
3.% 3

4.¥ 4

Sub-Section Number : 2
Sub-Section Id : 392266598
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 39226616131 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
(& ok 3;03:65'5 555 SR :.@;uga"nges&@ B3 op
SRETFOD HoTd,

1. (€20, aTPR{EI0
2. (#2620, B0
3. ToPsTe MM LYarTo)
4.  |¥Fe20, PPREI0, HEIO, BP0
Options :
1. % 1
2. % )
3% 3

4.9 4



Question Number : 92 Question Id : 39226616132 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“2T930 990 Ke0 D) RS0, 2% 5 a‘;@&aﬁ 550"
e::@gbfﬁa

1. B0 e
2. . mmdﬁamﬁ%
3. rolesei e::ﬁ:]mz@
4.  BBoKo BII0oeY
Options :
1. % 1
2.¥2
3.% 3
4. % 4

Question Number : 93 Question Id : 39226616133 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

DT AT BF8 ErHos” SrboiEo, Tahe)

JO° DEVTED.

1 HOSRES
). KE3s5 DADED
3 D005 d3es
4 %’;%D cSooen EOA €00
Options :
1.¢ 1
2.% )
3.% 3

4. % 4



Question Number : 94 Question Id : 39226616134 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

BFY SrEErodS ) (PFroo JFROSHOR ©ET05S

. FOSES oETH

2. @:é"fﬁ S:i.‘a“f.‘.ﬁéﬁ:“@ &955%56_5
3. fi‘f"o?&bﬂj@*_f @5@‘&5@
4. &5;]%35 @Eﬁ“ﬁ;eﬁ

Options :

1. % 1

2.9 2

3% 3

4. % 4

Question Number : 95 Question Id : 39226616135 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Sbulebey @D:u«@) e @‘fﬁaﬁgméﬁ Ko & Dol SHDFATL.
1. DES DS 2rfesen

7. 9040

3- (@52 Eﬁe::éo
4, E}JQQEPDC:SEQ)@
Options :
1. % 1
2.2
3.% 3

4.% 4



Question Number : 96 Question Id : 39226616136 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“ 5" Bawd OHS" B3 Yo oo

1.- 2’ 3
2. 2, 4
3. Ly 3
41 2j 6
Options :
1.¥ 1
2. % 2
3.% 3
4. % 4
Section 6
Section Id : 392266533
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266599
Question Shuffling Allowed : Yes



Question Number : 97 Question Id : 39226616137 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence in which the word "still" 1s used as an
adverb:

1. The water was still and calm.
.8 She still remembers his words.
3. The still night was peaceful.

4. They placed the still on the table.

Options :
1. %1
2.92
3.% 3
4. % 4

Question Number : 98 Question Id : 39226616138 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following is not a play written by William
Shakespeare?

. Hamlet

2. Macbeth

3 Waiting for Godot
4, Othello

Options :

1. %1

2.% 2

3.¢3

4. % 4



Question Number : 99 Question Id : 39226616139 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the most effective way to conclude an essay:

1. Restate your thesis and summarize main points.
2. Introduce a new argument.
E 3 Begin with a quote or anecdote.
4. Provide unrelated details about the topic.
Options :
1.v1
2. % 2
3.% 3
4.% 4

Question Number : 100 Question Id : 39226616140 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence that uses adjectives correctly:

1. She 1s the most smartest girl in class.
2, He bought a big. red car.
3. This 1s a more better option.
4, They live in a house bigger than everyone.
Options :
1% 1
2.¥2
3. % 3

4.% 4



Question Number : 101 Question Id : 39226616141 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the sentence that uses the preposition "with" properly:
1. We are angry with them.

2. He is interested with painting.

(s

She depends with him for advice.

4. They are jealous with your wealth.

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 102 Question Id : 39226616142 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is the correct pronunciation of the "-ed" ending
in the word "slowed":

1. fid/
2, /d/
4. fed/

Options :

1. % 1

2.92

3. % 3

4.% 4



Question Number : 103 Question Id : 39226616143 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the primary purpose of a concluding paragraph in an
essay:

L To introduce the main argument of the essay.

2, To summarize the essay and leave a final impression.
3. To provide background information about the topic.

4, To introduce a counterargument.

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 104 Question Id : 39226616144 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the sentence that does not contain an adjective:
1. The sky 1s blue.
2 She wore a beautiful dress.
3. They arrived early.
4. This 1s a large room.

Options :
1. %1
2.% 2
3.¥3
4. % 4



Question Number : 105 Question Id : 39226616145 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence that shows the correct use of the past
confinuous tense:

1. [ was reading a book.
7.3 I was interested in reading books.
3. He was in a swimming pool.
4, I had read the book.
Options :
1.v1
2. % 2
3. % 3
4. % 4

Question Number : 106 Question Id : 39226616146 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is the correct transformation of the
exclamatory sentence: "What a wonderful evening!" into a
statement?

L, It 1s a wonderful evening!

2 It 1s a very wonderful evening.

LS |

What a beautiful evening it is.

4. Is it a wonderful evening?

Options :

1. % 1

2.92

3. % 3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 392266600
Question Shuffling Allowed : Yes



Question Number : 107 Question Id : 39226616147 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
[t’s not needed for enhancing Pronunciation in children with
visual impairment
i Tape Recorder
2. Oral Reading
3. Embossed Diagrams
4. Story telling

Options :

1. % 1

2. % 2

3.¥3

4. % 4

Question Number : 108 Question Id : 39226616148 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Appropriate method in teaching words like behind, beside to
children with visual impairment is

E Project Method
2 Story Telling Method
3. Demonstration Method
4. Interaction Method
Options :
1. % 1
2. % 2
3.¢3
4, % 4



Question Number : 109 Question Id : 39226616149 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Piaget. one of the following activities doesn’t
enhance English language.

1. Creating Experiences
2. Brainstorming Activities
3. Playing Activities
4. Importance of Language Activities
Options :
1%
2.% 2
3.¢3
4.% 4

Question Number : 110 Question Id : 39226616150 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Implementing curricular adaptations for student with visual
impairment we observe this

i Reducing Self - Concept
2, Decreasing Motivation
3. Fastering better Relationships
4. Reducing Participation
Options :
1% 1
2. % 2
3.¥3

4, % 4



Question Number : 111 Question Id : 39226616151 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Visual impairment student writes punctuation mark of “:” in
Braille code as

1. 2.1
2. 2.4
3 2,6
4. 2,5

Options :

1.% 1

2.% 2

3.%3

4.9 4

Question Number : 112 Question Id : 39226616152 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student with Visual impairment writes the word “Cut” in
Braille code as

L 1.2-1.2.5-1.3,5

2 1,y«1=1 2 3

3. 1.4-1.3.6=1,2,3.4

4. 1,4-1,3,6-2,3,4,5
Options :
1. %1
2.% 2
3.%3
4.9 4

Section 7

Section Id : 392266534
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 16



Number of Questions to be attempted : 16

Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266601
Question Shuffling Allowed : Yes

Question Number : 113 Question Id : 39226616153 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

: ; . ; 3
The direction you face if you start facing west and make - ofa

revolution anticlockwise

1. North
2, South
3 East
4. West

3 ;
935 BID IRz BSOS’ ~, 0FDes0 B

Wt D BXYFH BOR &oLrtd

L. &ddo
2. &3820
L
3 etésﬁdaa}
4. DEDE
Options :
1.¥ 1
2. % 2
3. % 3

4.% 4



Question Number : 114 Question Id : 39226616154 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The temperature dropped 20°C in the last 30 days. If the rate
of temperature drop remains the same, how many degrees will
the temperature drop in the next twelve days

K 30 & &BRS 20°C DEFan0d. SRS SMcse Tew
3% &08 o°5'Eh BR)ot Serd] AR Elfien HEF00B.

L8 |
1. 6

2 3

3. 9

4 10
Options :
1. %1
2.9 2
3.%3

4. % 4



Question Number : 115 Question Id : 39226616155 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An elevator descends into a mune shaft at the rate of 8m/min.
If the descent starts from 15 m above the ground level. How
long will it take to reach — 545 m? (in Minutes)

2% dUI6, KIS W2 82 IK0S° B0,
68 Jo QO Ho& 151 P 0& BRHI)S, -545.5
D He3 Hoddo (Do)

1. 35
2. 60
3. 70
4. 735

Options :

1. % 1

2.% 2

3.¥3

4, % 4



Question Number : 116 Question Id : 39226616156 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The diagonals of a thombus measure 40cm and 42cm. Its
perimeter (in cm)

TronS SBook), szo Soden 40720.5 85w 4220.5 =9
SoenEos (o.ln.odd)

L. 82
2. 116
3. 168
4. 164

Options :

1. % 1

2.2

3.% 3

4, % 4



Question Number : 117 Question Id : 39226616157 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

z
A person walks ;]CI]] from a place P, towards west and then

. 1 ,
from there 1—% km towards east. Where will he be now from P?

.q
1. At a distance of l;k:m towards East of P

q
2. At a distance of l“gkm towards West of P

LS ]

. 1

At a distance of 1§k111 towards West of P
y 1

4. At a distance of l§k:111 towards East of P

"
2.5 58 (93%0 P ob —3.20. DEDY FY SETD SHIES

o

1
05 & 5008 1-8.2 SrEFY SET. o8 qope
P S00& )& &otren.

i

1L P 508 & 1“55.31:. STS0m &0ETED.
.q

2 P 504 HEDHEIY 1;5.?.13. Srom &oerED.
1

3. P ood $&508539 155.?.13. SrEoT 0.

1
4. P 00é SrED 155.31;. EE0m 0oL,

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 118 Question Id : 39226616158 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

How many times a wheel of radius 14cm must rotate
to go 352m
14 0.20.0 FErgo &) S0 3522. 3008
z =) 4
©8 Y T SO

1. 400
2 300
3. 200
4, 100

Options :

1.¥1

2.% 2

3.% 3

4. % 4



Question Number : 119 Question Id : 39226616159 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A closed cylindrical tank of radius 0.7m and height 1.5m is
made from a sheet of metal. How much sheet of metal is

required (in 1113)

0.7 2 FEREn, 1.5 A& Ko 28 Drdbads SeFsEY
e50€ 2.8 Sy TDHSE® BaHdS58. HJL o B0 Ko
St B esvdo (B o)

1 0.968
Z 9.68
3. 96.8
4, 968

Options :

1. % 1

2.2

3.% 3

4. % 4

Question Number : 120 Question Id : 39226616160 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
ax+bx—ay—by=
3 (a—D)(x—¥)
2. (a+D)(x+v)
3. (a+D)(x—17)
4. (a=D)(x+v)

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 121 Question Id : 39226616161 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[
I o
I

2

[d

4.

Options :
1.¥ 1
2.% 2
3.% 3
4. % 4



Question Number : 122 Question Id : 39226616162 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

.
If you subtract % from a number and multiply the result by

| 12

you get —. What is the number

o | B2

o | 12
i | ko
G,
o)
o
1>
i | k2
5%
&
0

D B voPg 0D T RN )

es ﬁoa:ng

[a—
L | b

|

[ ]

4.

o | =1 o | k2

Options :

1. % 1

2.9 2

3.% 3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 392266602
Question Shuffling Allowed : Yes



Question Number : 123 Question Id : 39226616163 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
By using NEMETH code digit 2" can be write in Braille as
IHS 5°& &9TrRod (BondS® 27 wosMm
B3 PO TN,

1 3.4.5.6-1.2
i 3.4.5.6-1.4
3 3.4.5.6-1.6
4. 3.4.5.6-1.5
Options :

1.¥ 1

2. %2

3.% 3

4.% 4



Question Number : 124 Question Id : 39226616164 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Teaching geometrical concepts to children with visual
impatrment through this

1. Abacus
4 Taylor Frame
3. Geo Tactile Board
4. Book
@53.13@&3; ARSI oo Y S0 e derg03
AYRICE NN
. Yrbe S(@o
2 Sob
3 2@ &3 6 5°G)
4. HpI¥o
Options :
1. % 1
2.% 2
3.3

4.% 4



Question Number : 125 Question Id : 39226616165 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This instrument used for Teaching Advanced Mathematic
Concepts for children with visual impairment

i Taylor Frame

2. Abacus

3. Talking Calculator
4. Brailler

oy ELE o o w
&JJ%} S%0 Ko 3@5&‘5@3 @GS:»:DE nedes @@m@:
S00SEL B3 HOES0 DT EDSBNDEE08.

Bob (d0

2. 92TPED
3. e20R T@ﬁ:;éeag
4, @c:m&:g

Options :

1. % 1

2. %)

3.¥3

4. % 4



Question Number : 126 Question Id : 39226616166 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These are required understand Maths concepts transform in
children with visual impairment.

1. Two Dimensional shapes to Three Dimensional shapes

z Three Dimensional shapes to Four Dimensional shapes

3. Three Dimensional shapes to Two Dimensional shapes

4, Three Dimensional shapes to Geometrical Dimensional
shapes

EYRS"00 Ko IorgS” Hedds eruTen oSS SU0
B2 AOII ety eIDs0.

L WA esoren $00& (@BH estoren
2. (@WBcH eoren $00& SEKE e5oen

3. | @AcH esoren $00d WA essore
4. | @WAcH esoren $00d Fgdah esoren

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 127 Question Id : 39226616167 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

To children with visual impairment-effectively teach about
circle & Radius with this material

1. Black Board

2, Book
3. Embossed Diagram
4, Abacus

L Ty e a2 - i L & S D
SYER0, TgrYEn B |S00 DOEY0 TT DabSI0oS0 i
§%0 Ko DYV 235&05;5{&3.

: £ eI
| oy R i |
Z DREO

3. &53}9‘_%_% {'.]@"'m
4. ITPED

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 128 Question Id : 39226616168 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the shapes and tell in mathematics. This process 1s

related to

1. Speech skills

2. Language skills
% Cognitive skills
4. Auditory skills

R3S T(R0S" &0 KHJ0d IN)Eo &N (HIEaH B3

0020080058
Lk EALMC o :ca_t.;’g)rﬁvsm:
2, Ak E@E‘&"’Sﬂi
3. Eﬂﬁjﬁ; SRYETJL0
4. (@e2 PRETJ

Options :

1. %1

2.% 2

3.°3

4. % 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 8

392266535
8

Online
Mandatory
16

16

8

0

1
392266603
Yes



Question Number : 129 Question Id : 39226616169 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It is observed that the simple pendulum took 20 seconds to
complete 20 oscillations. Its time period is

1. 20s
2. is
20
3 10 s
4 1s

2. ¥ %";ﬂsﬂﬁgé'seﬁo 20 J°8 E'odren DHEE 20 DEDen

HEIO. ) CoTNYS S0

1 20
2 L'}L}
20
3 10 ©
4 1
Options :
1. % 1
2.% 2
3.% 3

4.9 4



Question Number : 130 Question Id : 39226616170 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

X :  Distilled water is a poor conductor of electricity

Y :  Drnking water is good conductor of electricity

1. Both X" and Y’ correct

2 Both ‘X" and Y’ incorrect

5 "X’ correct, Y’ incorrect

4, ‘X’ incorrect, Y’ correct

X.: '?\5555 3OO0 OGN DBJTYIEO

Y: (@08 50D DY EO

1. ‘X S8adw Y Do ?@Eﬁé’}
2. ‘X7 S50805 Y Doy HhTeiL
3. X ¥3SB, Y 005>
4. X ¥o=d, Y ﬁgﬁﬁ

Options :

1.v1

2.% 2

3.% 3

4.% 4



Question Number : 131 Question Id : 39226616171 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The incorrect statement about magnets 1s

1. Magnets lose their properties if they are heated

2. Magnets became weak if they are not stored properly
: § On hammering magnets became permanent magnets
4. Pole strengths more at Pole of a magnet

@dﬁ:@*bo@eﬁ: Ho20500 HOSR ;ﬂﬁéo

Sl SERp Rl S S3& DR @) ¢ ﬁiﬁéeu 5"‘595'5@3‘033
2. @dHIOSTTOH HOF HEFIEEEFS o rSHHSow.

3.  CHhIosred BS SYIHE @ TS
@O OB JrEHS D,

4, EDD“.SJ@“EID?‘_@ t‘.fiqja‘e;: wg wcﬁa@“bo@' 2320 ;:E‘i.wb_;}’

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 132 Question Id : 39226616172 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The force of gravity acts on an object of mass 25kg is

25820 (5550°8 Ko HPp DITR Hthweo

L 25N
Z 2.5N
3. 50N
4. 250N

Options :
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2. % 2
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Question Number : 133 Question Id : 39226616173 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The incorrect statement about earth quake is

1. It 1s not possible to predict the occurrence of an earth
quake
2. It 1s caused by a disturbance deep inside the earth’s

CIusT.

Earth quake tend to occur at the boundaries of earth’s
plates

LS ]

4, Destructive earthquakes have magnitude less than 7 on
the Richter scale.

dr¥oare Ho0lo0d Hoz) .:*55;3;3.

s FEOD0 DOFJOBER) 0™ M80wE0
TPEFOSED

2 D100 Q_'}JJEZ}_ éﬁg?;ﬁ FPEoSt vond ;‘5?-_, AbLl-lerele)
Dﬁg&seﬁ;oa.
3. Ny HDo¥e ‘ﬁ&‘iﬁiﬁnﬁ@ ;:icﬁ:i ZrEoaren SoPAJaw.

4. JEY Lrsoren VoFA0DTHE 8EE/ e
BFS 7 K08 SK) 5
Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 134 Question Id : 39226616174 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Deficiency of vitamin B, causes

i Scurvy
2, Rickets
3 Beriberi
4. Goiter
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Options :
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Question Number : 135 Question Id : 39226616175 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A Insectivorous plant i, Cuscuta

B Saprophyte i1. Pitcher plant
e. Parasite iii.  Lichen

D Symbiosis iv.  Mushroom
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Options :
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Question Number : 136 Question Id : 39226616176 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The correct sequence of Teeth on jaw

i Premolars. Inscissors. Molars. Canines
2. Molars. Premolars. Canines. Inscissors
3. Canines. Molars. Premolars. Inscissors
4, Inscissors, Canines. Premolars. Molars
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Question Number : 137 Question Id : 39226616177 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The trees grows along the sewage ponds are
1. Subabul

2 Tamarind
3. Eucalyptus
4, Neem
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Options :
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Question Number : 138 Question Id : 39226616178 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Expand ZBNF
ZBNF % 9%00:50&.

1. Zero Budget National Farming

1o

Zonal Budget Natural Farming

[ ]

Zonal Budget National Farming

4, Zero Budget Natural Farming

Options :

1. % 1

2.% 2

3.% 3

4.9 4
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Sub-Section Id : 392266604
Question Shuffling Allowed : Yes



Question Number : 139 Question Id : 39226616179 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Educational objective of cognitive domain related to this Body
part

1. Heart
2. Head
3. Stomach
4. Hand
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Question Number : 140 Question Id : 39226616180 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s related to Affective Domain

1. Analysis

2. Value creation
3 Utilisation

4. Understanding
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Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 141 Question Id : 39226616181 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Not related to learning stage of “5E” model

L Engage

2 Explain
3 Elaborate
4. Exhaust

&1255}6556 S¥S° “SE” S50 o050 898

1. PO el
N
2 D3eD
3 H)eletar
4 OO
Options :
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Question Number : 142 Question Id : 39226616182 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Teaching concept of different types of Roots. various types
roots through touch to children with visual impairment are
these experiences.

1. Direct Experiences

2 Indirect Experiences

3. Individual Experiences
4. Group Experiences
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Question Number : 143 Question Id : 39226616183 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Evyes of a foetus produce tears at this week
e N M Mo K e = -
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Options :
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Question Number : 144 Question Id : 39226616184 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Effective way to teach about structure of teeth to children with
visual impairment

1. General Teaching by the Teacher
2. L.F.P Teaching

¥ Touch and Feel by student

4. Seeing through eyes
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Question Number : 145 Question Id : 39226616185 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Tippu’s tiger effigy was kept in

1. The British Museum in London

2. Victoria and Albert Museum in London
3. National History Museum in London

4, Imperial War Museum in London
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Question Number : 146 Question Id : 39226616186 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Natal Indian Congress was established in South Africa by
Mahatma Gandhi in the year
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Options :
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Question Number : 147 Question Id : 39226616187 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which one of the following is a leading producer of Tin in the
World?

1. Chile

.4 Indonesia
3. Sweden
4. France
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Options :
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Question Number : 148 Question Id : 39226616188 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The only President who had been re-elected for the second
term in our country
1. V.V. Giri
2. Neelam Sanjeeva Reddy
3. Babu Rajendra Prasad
4, Shankar Dayal Sharma
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Options :
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Question Number : 149 Question Id : 39226616189 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In a thematic map, dark green colour represents

1. Plateaus

2 Mountains

3 Grass lands

4, Forests
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Options :
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Question Number : 150 Question Id : 39226616190 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
People started printing coins in their homes during the period
of
1 Qutbuddin Aibak
2. Balban

Ibrahim Lodi

4, Muhammad-bin-Tughlaq
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Options :
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Question Number : 151 Question Id : 39226616191 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ashoka’s mscription detailing on Kalinga war was found on
this rock edict

) No. 13
2. No. 10
3 No. 7
4. No. 6
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Options :
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Question Number : 152 Question Id : 39226616192 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Article of Indian Constitution that provides universal Adult
Franchise

I Article 315

2. Article 351

3. Article 362

4. Article 326
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Question Number : 153 Question Id : 39226616193 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first Municipality in Andhra Pradesh was
1. Kakinada

2 Bhimili

3. Bhimavaram

4. Chirala
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Options :
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Question Number : 154 Question Id : 39226616194 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

River ‘Ghata Prabha’ 1s the tributary of this river

I Krishna
2 Godavari
3 Ganga

4. Kaverti
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Options :
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Question Number : 155 Question Id : 39226616195 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This method develops experiential knowledge and encourage
exploration

L. Direct Experiences

2. Field trips

3. Collection of Information skills

4. Story Discussions
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Question Number : 156 Question Id : 39226616196 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This care 1s to be taken in teaching map skills to a student with
visual impairment at primary stage

1. Having various concepts
2. Having single concept
3 Having two concepts
4. Having three concepts
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Question Number : 157 Question Id : 39226616197 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is not considered as thematic map
1. World map

2. Weather map

3 Political map

4. Biological map
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Question Number : 158 Question Id : 39226616198 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Letter “T" indicates this in the map 1s

1. Thiruvananthapuram
2. Tamil Nadu
3. Telegraph office

4, Tirupathi
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Options :
1. %1
2. %2
3.¢¥3

4. % 4



Question Number : 159 Question Id : 39226616199 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Easy method to identify grains like pear]l millet, finger millet
for students with visual impairment

L. Discussion method
2, Presentation method
3. Tactile method

4, Lecturer method
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Question Number : 160 Question Id : 39226616200 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Water bodies in physical maps indicates with this colour
L White

2. Blue
3. Brown
4. Yellow
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